BHARAT COKING COAL LIMITED (A Subsidiary of Coal India Limited) OFFICE OF THE GENERAL MANAGER, EJ AREA P.O.: BHOWRA (DHANBAD)

Ref. No.: BCCL/Civil/EJA/Tender/2010-11/610 Dated:08.02.2011

TENDER NOTICE

Sealed Tender on percentage basis (Above/Below) on prescribed bill of quantity is hereby invited for the following job/jobs from the resourceful and enlisted contractors which will be received and opened on 21.02.2010. from 10.00 AM to 1.00 PM. and will be opened on 23.02.2011 at 4.00 PM. The Tender will be opened in presence of the Tenderers/Quotationers or their authorized representatives. Details are as below:

Sl.No.	Name of work	Estimated Cost(In Rs.)	Earnest Money (In Rs.)	Time of Completion
1.	Roof repair & white washing in transformer room at 37/38 incline Bhowra(South) colliery under EJ Area.	14224.91	145.00	Seven days
2.	Tarfelting of EKG 265 Shovel of COCP Sudamdih under EJ Area.	9452.68	95.00	Seven days
3.	Cleaning of jungle including colour wash of children park at Bhowra under EJ Area.	6770.82	70.00	Seven days
4.	Repairing of qtrs. of Sri. Nawal Kishore Sharma,qtr.no. T-II/103 at riverside colony, Sudamdih under EJ Area.	15952.07	160.00	Seven days

AVAILABILITY OF TENDER PAPER :

From 17.02.2011 to 19.02.2011

TERMS AND CONDITIONS:

- 1. The estimate & specification of the work is available in the office of the undersigned during working hours on above mentioned period. Any other information can also be obtained from the unsersigned
- 2. The quotationer have to submit Photo stat copy of PAN Card.
- 3. The tender has to deposit E.M. as stated above with A.F.M., EJ Area in cash. The Money receipt of EM should be attached with the tender. The tender without earnest money will be out rightly rejected.
- 5. The quotationer must submit an affidavit with their offer as per civil engg. Manual along with certification that they have not been banned or delisted by any Govt. Agencies or PAUs.
- 6. The contractors have to submit Permanent Account Number(PAN) income tax and TIN.
- Authority reserves the rights to reject any or all the tenders received or split up and distribute the work between more than one contractor without assigning any reason what so ever
- 8. The rate should be quoted inclusive all taxes and royalty. The validity period of the tender will be 120 days, commenced rom the date of opening of the Tender.
- 9. Materials required for the work are to be arranged / procured by the contractor at his own cost.
- 10. In case rate are not acceptable, the offer may be rejected.
- 11. The contractor should abide by the labour Act of Govt. of India.
- 12. Conditional tender will not be entertained.
- 13. The Tender document can also be downloaded from the BCCL web site http://bccl.cmpdi.co.in

Distribution: -

1. The All Project officer of EJ Area.

Area Civil Engineer(EJA)

- 2. The Addl. GM/A.F.M.(EJA)
- 3. The A.F.M./A.S.O., EJ Area.
- 4. CISF Main gate, Koyla Bhawan
- 5. The Inspector, CISF, EJ Area.
- 6. The Inspector, CISF, Ropeway Area/ EWZ Area.
- 7. The Cashier/Notice Board, EJ Area.
- 8. M/S. Builders Association of India, 316 LIG, Housing colony, Dhanbad..

Bill of quantity for the work," Roof repair & white washing in transformer room at 37/38 incline Bhowra(South) colliery under EJ Area.

Sl.No.	Description of Item	Unit	Quantity	Rate	Amount
1.	Demolishing cement concrete manually / by mechanical means including disposal of material within 50 metres lead as per direction of Engineer in charge. (1:3:6 or richer mix)	Cum	1.53	368.45	563.72
2.	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	Sqm	20.59	8.20	168.83
3	Repairs to plaster of thickness 12mm to 20mm in patches of area 2.5 sq. metres and under including cutting the patch in proper shape and preparing and plastering the surface of the walls complete including disposal of rubbish to the dumping ground within 50 metres lead.	Sqm	15.00	114.35	1715.25
4	12 mm cement plaster of mix 1:4(1 cement: 4 fine sand)	Sqm	20.59	77.55	1596.75
5	Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size.	Cum	1.53	3314.95	5071.87
6	Painting top of roofs with bitumen of approved quality at 17kg per 10sqm impregnated with a coat of coarse sand at 60 cudm per 10sqm including cleaning the slab surface with brushes and finally with a piece of cloth lightly soaked in kerosene oil complete With residual type petroleum bitumen of penetration 80/100	Sqm	55.69	63.00	3508.47
7	White washing with lime to give an even shade:old work(two or more coat)	Sqm	268.59	4.10	1101.21
8	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade:one or more coat on old work.	Sqm	21.83	22.85	498.81
					14224.91

Data avvatad i la 0/ Abayya/Dalayy	.(In figure)/(/l.a
sale ouoleo : in % Above/Below	(In liquite)/	am worm

Name of Agency : Details Address

Details of Earnest money: Area Civil Engineer

Signature & date of the Tenderer:

Bill of quantity for the work," Tarfelting of EKG 265 Shovel of COCP Sudamdih under EJ Area.

	Description of Item	Unit	Quantity	Rate	Amount
1.	Dismantling of old tarfelt as per specification.	Sqm	52.13	1.80	93.83
2.	Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS:702 applied hot @ 1.45 kg per sqm. of area for each course, second course of roofing felt type 3 grade-I (hessian based self finished bitumen felt) and forth and final course of stone grit 6 mm and down gauge or pea sized gravel spread at 6 cubic diameter per sqm. including preparation of surface but excluding grading complete with bitumen felt(hessian base) type 3 grade I confirming to IS: 1322.Deduction of rate for the Item - Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size.	Sqm	53.13	176.15	9358.85
					9452.68

Rate quoted : In %	Above/Below(In figu	re)/(In word)

Name & Address of the Tenderer:

Detail of Earnest money:

Area Civil Engineer

Signature & date of the Tenderer :

Bill of quantity for the work," Cleaning of jungle including colour wash of children park at Bhowra under EJ Area.

.

Sl.No.	Description of Item	Unit	Quantity	Rate	Amount
1.	Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and sapling of girth upto 30 cm. measured at a height of 1 m. above ground level and removal of rubbish upto a distance of 50 m. outside the periphery of the area cleared.	Sqm	1665.42	263.90	4395.04
2.	Colour wasing to give an even shade.	Sqm	487.84	4.87	2375.78
					6770.82

nate dubted . III /o Abbve/Delow	Rate o	auoted : In %	Above/Below	.(In figure))/(In wo	ord
----------------------------------	--------	---------------	-------------	--------------	-----	-------	-----

Name & Address of the Tenderer :

Detail of Earnest money : Area Civil Engineer

Signature & date of the Tenderer :

Bill of quantity for the work," Repairing of qtrs. of Sri. Nawal Kishore Sharma,qtr.no. T-II/103 at riverside colony, Sudamdih under EJ Area.

Description of Item White washing with lime to give an even shade: Old work (two or more coats) Colour washing two coats complete Painting with synthetic enamel paint of approved or and and manufacture of required colour to give an even shade Providing & fixing PVC Rain water pipe. One or more coat on old work. Grading roof for water proofing treatment with Dement concrete 1:2:4 (1 cement : 2 coarse	Unit Sqm Sqm Sqm Cum	Quantity 63.39 198.44 49.30	8ate 4.10 5.11 22.85	Amount 259.89 1014.02 1126.50
Old work (two or more coats) Colour washing two coats complete Cainting with synthetic enamel paint of approved or and and manufacture of required colour to give an even shade Providing & fixing PVC Rain water pipe. One or more coat on old work. Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement : 2 coarse	Sqm Sqm	198.44	5.11	1014.02
Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade Providing & fixing PVC Rain water pipe. One or more coat on old work. Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement : 2 coarse	Sqm			
orand and manufacture of required colour to give an even shade Providing & fixing PVC Rain water pipe. One or more coat on old work. Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement : 2 coarse	·	49.30	22.85	1126.50
Cement concrete 1:2:4 (1 cement : 2 coarse	Cum			
and: 4 graded stone aggregate 20 mm nominal ize.	Guill	1.169	3314.95	3875.18
Painting top of roofs with bitumen of approved quality at 17kg per 10sqm impregnated with a coat of coarse and at 60 cudm per 10sqm including cleaning the lab surface with brushes and finally with a piece of loth lightly soaked in kerosene oil complete	Sqm	38.35	63.00	1416.05
Removal of old tarfelt	Sqm	50.13	1.86	93.24
Cement concrete flooring 1:2:4 (1 cement : 2 coarse and : 4 graded stone aggregate) finished with a loating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 25mm thick with 20mm nominal size stone aggregate	Sqm	16.61	141.11	2349.65
2 mm cement plaster of mix : 1:6 (1 cement : 6 fine	Sqm	38.23	67.65	2586.25
Brick work with F.P.S. bricks of class designation 50 in superstructure above plinth level upto floor V level in all shapes and sizes in : Cement Mortar 1:6	Cum	0.50	2315.50	1157.75
Distempering with oil bound washable distemper of approved brand and manufacture to give an even hade	Sqm	66.00	14.90	938.34
Applying one coat of cement primer of approved brand and manufacture on wall surface :cement brimer	Sqm	66.00	17.20	1135.20
				15952.07
in the state of th	ainting top of roofs with bitumen of approved quality 17kg per 10sqm impregnated with a coat of coarse and at 60 cudm per 10sqm including cleaning the ab surface with brushes and finally with a piece of oth lightly soaked in kerosene oil complete emoval of old tarfelt ement concrete flooring 1:2:4 (1 cement : 2 coarse and : 4 graded stone aggregate) finished with a pating coat of neat cement including cement slurry, at excluding the cost of nosing of steps etc. complete. 25mm thick with 20mm nominal size stone aggregate 2 mm cement plaster of mix : 1:6 (1 cement : 6 fine and) rick work with F.P.S. bricks of class designation 50 superstructure above plinth level upto floor V level all shapes and sizes in : Cement Mortar 1:6 cement : 6 coarse sand) istempering with oil bound washable distemper of oproved brand and manufacture to give an even nade pplying one coat of cement primer of approved and and manufacture on wall surface :cement	ze. ainting top of roofs with bitumen of approved quality 17kg per 10sqm impregnated with a coat of coarse and at 60 cudm per 10sqm including cleaning the ab surface with brushes and finally with a piece of oth lightly soaked in kerosene oil complete emoval of old tarfelt ement concrete flooring 1:2:4 (1 cement : 2 coarse and : 4 graded stone aggregate) finished with a pating coat of neat cement including cement slurry, at excluding the cost of nosing of steps etc. omplete. 25mm thick with 20mm nominal size stone and) rick work with F.P.S. bricks of class designation 50 superstructure above plinth level upto floor V level all shapes and sizes in : Cement Mortar 1:6 cement : 6 coarse sand) istempering with oil bound washable distemper of oproved brand and manufacture to give an even hade pplying one coat of cement primer of approved rand and manufacture on wall surface :cement	ainting top of roofs with bitumen of approved quality 17kg per 10sqm impregnated with a coat of coarse and at 60 cudm per 10sqm including cleaning the ab surface with brushes and finally with a piece of oth lightly soaked in kerosene oil complete emoval of old tarfelt ement concrete flooring 1:2:4 (1 cement : 2 coarse and : 4 graded stone aggregate) finished with a pating coat of neat cement including cement slurry, at excluding the cost of nosing of steps etc. complete. 25mm thick with 20mm nominal size stone and including the cost of superstructure above plinth level upto floor V level all shapes and sizes in : Cement Mortar 1:6 coarse sand) istempering with oil bound washable distemper of coproved brand and manufacture to give an even and and manufacture on wall surface :cement	ainting top of roofs with bitumen of approved quality 17kg per 10sqm impregnated with a coat of coarse and at 60 cudm per 10sqm including cleaning the ab surface with brushes and finally with a piece of oth lightly soaked in kerosene oil complete emoval of old tarfelt ement concrete flooring 1:2:4 (1 cement : 2 coarse and : 4 graded stone aggregate) finished with a pating coat of neat cement including cement slurry, at excluding the cost of nosing of steps etc. bruplete. 25mm thick with 20mm nominal size stone aggregate 2 mm cement plaster of mix : 1:6 (1 cement : 6 fine and) rick work with F.P.S. bricks of class designation 50 superstructure above plinth level upto floor V level all shapes and sizes in : Cement Mortar 1:6 cement : 6 coarse sand) istempering with oil bound washable distemper of proved brand and manufacture to give an even adde pplying one coat of cement primer of approved rand and manufacture on wall surface :cement

Rate quoted : In % Above/Below	.(In figure)/	(In word)
--------------------------------	---------------	-----------

Name of Agency : Details Address

Details of Earnest money:

Area Civil Engineer